Practice
Equations of Lines:

Forms of Equations of Lines

Answer these problems, then check your answers using the key on the next page. If you missed
something, look at the solutions after the answer key, and if you still don’t understand, watch the review

video again,

#1) Find the slope and y-intercept of this line and write an equation in slope-intercept form:
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#2) Find the slope of this line, and use a point on the line to write a point-slope equation of the line:
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#3) Write a point-slope form equation for this line. Then convert the equation to slope-intercept,

standard, and genera
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#4) Convert this equation 2x+3y=24 to...
...general form ...slope-intercept form

#5) Convert this equation (y—~2)=3(x+4) to...
...slope-intercept form ...standard form

#6) Convert this equation {y+1)= —%(,\' -3) to...

...slope-intercept form ...standard form

...general form

...general form



Answers:

#1) slope=-2
y -intercept :(0,5)

slope - intercept form: y=-2x+5

{
#2) slope=——
) P 2

point-.viopefm‘m:(}?—4)=—%(.\'+2) or ()’—3)"—“—%(,\'—5)'

#3)  point - slop;e form: (y—1)= —%(x ~5) {used point (5.1)}

, |
slope - intercept form: y=-— 5.\‘ + Py

standard form: x+2y =17
general form: x+2y-7=0

#4y general form: 2x+3y-24=0

2
slope -intercept form: y = —g,\' +8

#5) slope-intercept form: y = 3x+14
standard form: 3x—y=-14
general form: 3x—y+14=0

#6) slope-intercept form: y = --§x+%
standard form: 4x+5y =7

general form: 4x+5y-7=0



Solutions:
#1) Find the slope and y-inlercept of this line and write an equation in slope-intercept form:
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H2) Find the slope ul this line, and use @ poind on the line to write o point-slope equation ol the line:
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#3) Write o point-slope form equation Tor this line. Then convert the equation 1o slope-intercept,

stanrdard. und general forms,
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#4) Convert this equation 2v+ 3y =24 1o...

general form slope-intercept fonn
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15y Convert this cquation (- 2) =3(x +4) to...
-shope-tntercept form Lstandard Torm
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fi6) Convert this equation { p+1) = —i(,\' ~3) to...
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...peneral form
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-general form
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